L D@

Post Holders and Post Collars

CECCEE

e Post Holder with wide square cut wichich provides two line
contact firmly
Brass base is capable of loading weight and stable

e Post Holder with spring loaded ball which allows one-handed

PH12/PH Series positioning
e Combine with RHX-series or RH-series can rotate without

PH8-20C changing the weight
. ¢ PH8-20C ( For @ 8 mm (0.313") holds short posts horizontally
* or vertically

PH8 Series PHX Series

Specification & ltem Numbers

o
3
5 PH-series PH8-20C
3
?\" A
D
ltem# | D A B C E
PH8 .0 19.0 |10.0 6.0 M4x0.7P

8
Series |[.315]|[.75] |[.39] |[.24] |[#8x32w]
PH12 [12.0 [25.0 [16.0 9.5 M6x1P
[
1
[

Series |[.47] |[1.0] |[.63] |[.375]|[1/4x20W]
PH 2.7 125.0 [16.0 9.5 M6x 1P
Series |[.50] |[1.0] |[.63] |[.375]|[1/4x20W]
PHX 20.0 |37.5 [16.0 9.5 Méx1P
Series | [.785]|[1.5] |[.63] |[.375]|[1/4x20W]

For diameter @ 8mm (0.313”) Post. For diameter @ 20mm (0.785”) Post
Product Number PH8-20C  PH8-20 PH8-40 PH8-60 PHX-2 PHX-3 PHX-4 PHX-6
Length ( L) mm( Inch) 20(0.785”) 40(1.577) | 60(2.36™) 20.5(27) 76.2(3”) 101.6(4™) 152.4(6™)
Weight (kg) 0.02 0.04 0.06 0.13 0.19 0.25 0.36

For diameter @ 12mm Post Post Collar

Product Number Post Product
PH12-25 PH12-38 PH12-50 PH12-75 PH12-100 PH12-120
Diameter Number
Length (L) (mm) 25 38 8 Series
Weight (kg) 0.04 0.06 0.08 0.12 0.15 0.18 @12 Series

For diameter @ 12.7mm (0.5”) Post 12.7mm (0.5”)

Product Number Series

Length (L) 25.4(17) | 38.1(1.5") | 50.8(2”) 76.2(3”) 101.6(4”) | 152.4(6) 20mm
mm( Inch) (0.875”)
Weight (kg) 0.04 0.06 0.08 0.12 0.15 0.23 Series
Material Aluminium ( Black anodized )

D. 23 o, OP Mount Instrumentinc. www.opmount.com.tw



P

Colored Post Holder

B ovenien

e Features various colors to classify lab objects such as lens
size, focal length and so on
e Please add the preferable color behind item No. while placing
A cC S order >
Red — PH-1.5R
Green — PH-1.5G
Blue — PH-1.5B
Gold — PH-1.5A
Gray — PH-1.5C
Silver white — PH-1.5S

)

R S/haa

- Specification & ltem Numbers [‘\v

’

L
=
o
=
o
Q
§
O

o]

it PH12 |PH
em# Series | Series

1 | . 12.0 [12.7
I (%;E [.47] |[.50]
|
|
\ 1
‘ i
|
|
|
|
|

A 25.0 [1.0]

i B 16.0 [.63]
C 9.5 [.375]

. M6x 1P
[1/4x20W]

\THD E

B o humbers

Part No. PH-1 x PH-1.5 x PH-2 x PH-3 x PH-4 x PH-6 x
Inside Diameter @12.7mm (0.5”)
Length (L) mm (Inch) 25.4(17) 38.1(1.5”) 50.8(2”) 76.2(3”) 101.6(4”) 152.4(6”)
Weight (kg) 0.04 0.06 0.08 0.12 0.15 0.23

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. %4, D. 24



o fosfockoee

Post Collars

oo

- Q

e Rotation without changing the height
' e Material: Aluminum
RHS RH12/RH RHX e Metric / Imperial Version
| | | ® To order Imperial model please add * I- * to ltem

For PS8/PB/MP  RH for P-series For PX / P20
RH12 for P12

RH12C

228

RH8C RHC

- Specification & ltem Numbers

0O
o)
3
8
:
S
! A
C L
i !
g 10.0
[.39]
A }
| L |
10.0 C i T
[.39] j
| -5
- ltem Numbers
Iltem Number A @ mm (inch) B @ mm (inch) C @ mm (inch) Weight
(kg)
RH8 8.0(0.31) 19.0 (0.75) 8.0(0.31) 0.07
RH8C 8.0 (0.31) 19.0 (0.75) 8.0 (0.31) 0.10
RH12 12.0 (0.47) 25.4 (1.0) 9.0 (0.35) 0.17
RH12C 12.0 (0.47) 25.4 (1.0) 9.0 (0.35) 0.14
RH 12.7 (0.50) 254 (1.0) 9.0 (0.35) 0.17
RHC 12.7 (0.50) 25.4 (1.0) 9.0 (0.35) 0.14
RHX 20.0 (0.785) 38.0 (1.5) 9.5(0.37) 0.28
RHXC 20.0 (0.785) 38.0 (1.5) 9.5(0.37) 0.25

D. 25 o, OP Mount Instrumentinc. www.opmount.com.tw



Rotational Post Holders

1)

RPH12-50(RPH-2)  RPH12-75(RPH-3)

B ovenien

360 smooth rotation

Easy one-handed positioning

Material: Aluminum

Metric / Imperial Version >
To order Imperial model please add * I- * to Item

) Specification & tem Numbers N\

2
(]
[=
3
$25.4[1.0]
D
ot
16.0 a Y
[.63]
APPLICATION
T
I e e T R T RPH12 series + P12
I \ ] | R0 [T o7)) [.47)
| :[ RPHIZ-75 | ()| [ 4] RPH series + P-series
H ‘ — RPH—2 @%ﬁ [gzdf
L — 762 127 S -’
| RPH—3 . .
I | :[ [3.0] |[.50]
H_’T ‘”Ji  —
10 8.0 [.32]
[N }
\LMESXTP[T/ZLXZOW]

L

Iltem Number Diameter @ Lenght mm (inch)
mm (inch)

RPH-2 12.7 (0.5”) 50.8 (2)

RPH-3 12.7 (0.5”) 76.2 (3)

RPH12-50 12.0 (0.477) 50.0(1.97”)

RPH12-75 12.0 (0.47”) 75.0 (2.95”)

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. %4, D. 26



(o)
)
=
T
o
3
®
3
(v d
w

D. 27

) { B

Rotational Post Holders

[Doever
e Fordiameter: 20 mm
e 360 smooth rotation
. e Square relief cut
t ’ ® To order Imperial model please add * |- * toem
RPHX-2 RPHX-3 RPHX-3P
. Specification & ltem Numbers
436,00 42
$20.0[.79]
it
16.0
[.63]
T
| \
I |
[ |
| |
[ |
- H } lten# L
H | :[E] RPHX—2P | [2.0]
[ RPHX—=3 /6.0
m 8.0[.32] RPHX—3P [3.0]

AN

f
M6x1P[1/4x20W]

O e tumoers

Iltem Number Diameter @ Lenght mm (inch)
mm (inch)

RPHX-2 20.0(0.785") 50.8 (2")

RPHX-2P 20.0 (0.785") 76.0 (3")

RPHX-3 20.0(0.785") 50.8(2")

RPHX-3P 20.0 (0.785”) 76.0(3")

o

. OP Mount Instrument Inc. 'w w w .

opmount.com.tw




Vertical Adjustable Post Holders

1}

VPH12-50(VPH-2) VAP-3

- Overview

VPH series For Diameter ; @ 12 & 12.7 mm

Fine adjustment range 8 mm (0.315")

(1mm per)360 turn

Material: Aluminum (Black anodized) ~
Metric / Imperial Version

To order Imperial model please add * I-* to ltem

- Specification & ltem Numbers .\-

$30.0[1.18]
924.0[.95]

L
=
o
=
o
Q
§
O

M6x 1P

3—Locked
Screw [1/4x20W]
®12.7 [9.50]
?28.0
*Uﬂ@}’ MIN 8.0[.32]

B MAX 48.0[1.89]
oA 1 f—
— B
| |

Min 50[1.97] 2 Adjustment e
MAX 58[2.3] [3.0] | Adjustment
Locked Knob
T © | Screw

M6x 1P
1/4x20W
VPHASer] \*W“P m[ /o]
S Ty /w0 | oeseo | [vaps |
e »34.0 VAP -3
' ]

[1.34

. ltem Numbers

Post Post Lenght
Item Number Diameter D Adjustment Adjustment
mm (inch) mm (inch) mm (inch)
VPH12-50 12.0 (0.47”) 32 (1.26”) 8(0.315”)
VPH-2 12.7 (0.5”) 32 (1.26”) 8(0.315”)
VAP-3 12.7 (0.5”) 8~48 (0.315~1.89”)

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. %4, D. 28



ol

Base Clamps

. Overview

Using in combination with SB-series sliding bases
Material: Aluminum (Black anodized)

Metric / Imperial Version

To order Imperial model please add * I- * to Item

BC-3

BC-2

- Specification & ltem Numbers

o
o
3
T
c BC-1 BC-2
o
=
= M6[1,/4]
clr Slot

64.0 [2.52]
32.0 [1.26] P
7.0
i [
o 1O I C )

‘? 25.0
6.4 A
E,ztﬂ “' 2[?9?]"] 51.0 [2.01]

[ﬂ_ﬂ

- IS %
22.0 .

O R — '
_t Es.o T

' BC—2

—
N
0
[
T =
o O
©
[t

[
]
L
-

Ao
RSN

BC-3

66.0 [2. 60]
25.4 M6[1/4] 3. o 8.0
9.0 S\ot
- [35] o] [1.00] [12 @ —™ ]j[ 32]
19 i
o0 5

— M6x1P[ 1 /4x20W]
- Item Numbers
Can be

Item Number used thickness Thickness Weight

mm (inch) mm (inch) (kg)
BC-1 6~16 (0.24~0.63") 22 (0.87") 0.04
BC-2 5~10 (0.2~0.4") 12.7 (0.5%) 0.03
BC-3 6~16 (0.87") 22 (0.87") 0.04

D. 29 o, OP Mount Instrumentinc. www.opmount.com.tw



Sliding Bases

‘

CECTE

Material: Alumimum
Compatible with rail and table mounting systems
Metric / Imperial version available

To order Imperial model please add * I- * to ltem

"

. Specification & Item Numbers

L
c
25—M4x0.7P @
SA-1 7[7%?2%\ AN o e ﬁ[w ojr [ I#8s320] SA-3 5
4—M4x0.7P J Q
N é [#8x32W] o é) o 0 o o g
© ) o S
65.0 21—70/\ R : MS@L/RH o o o o o
M16x1P
226 E[ISO]OU o | O o NS 120,0 075.0 "
1 S) [473] [3.0] | © o o o
o
o o o] o o
J :1340 ﬂ ) ©
630 [2 48 80 [.32] ? o fe] o c‘)
e — ‘ 100.0[4.0] |
‘ [ HEREIE ‘ n f !
1 76,0[3,0] Jj T‘ I bl |
321 —1200 [4.73]——
15-Mexip  4-Ma#e]_4=ML! /4] 4—M4x0.7P
[1/exa0w] O el \ C#6x52W] 50[2]
\ [ 34
| j¥) T[w.sﬂ‘}
oy o O o 4—M4CLR
80.0 =
(315 | 1= 97 [S) O ©
25.0 o) A
'—[‘250]0[1 o]l © O o O o S—M6* 1P~ ~7 = {
— o 34 50 go[2.36
T s a O, a o o Ol 11734 [2] e
N ) 4—M4CLR H
\6\ (6);4
J 0134.0 ~7 7
[1.34] @ O ©
- 63.0 [2.48]
100.0 [3.94] [T 5 ]380 [32]
L o ]
= r " 60.0 [2.36 -
[32] l—iwzoo [4 73]44 [ ] SA-4

Iltem Number Stage Surface Thickness
mm (inch) mm (inch)
SA-1 76x65 8.0 0.17
SA-2 120x80 8.0 0.16
SA-3 120x120 8.0 0.36
SA-4 60x60 8.0 0.10
www.opmount.com.tw OPMountInstrumentInc.

D. 30



1y O

Sliding Bases

Overview

e 9 surface dimensions for selection:
SB-05/1S/1/2/3/4/15/617

e Material: Aluminum

e Compatible with rail and table mounting systems

e Metric / Imperial Version available

e To order Imperial model please add * |- * to ltem

o
@« %

SB-05 SB-1S

. Specification & Item Numbers

0O
3
T "
% 76.0 [3.0] S
2-M6x1P [1/4x20W] 1‘.750.4 [2.0]—#
.'?,." r 2-M6[1/4]Slots M6[1/4] Cir /L T
— 7.0 (\O/\
— ] d [.28] 32.0 25.0 = 50.8
- 1 [1.261{1.0] @) [2.0]
! ) ( 50.0 | =
= o T _f2.0] l O)
\2—M6[1/4] Slots
—425.0[1.0] }-- 3-M6[1,/4]clr o0
e EEE N
SB—1
SB—2
50.8 [2.00]41
1 20.0 ‘ \
[T‘J] - 2=Wel1/4Jstots A H;?EL ‘
(6\ 25.4 L o~ Q;&
H ;| o] | D ©) | [1.0]
| 1
M6[1/4]cir 9.5 [ ?"3571 M6[1/4]cIr
[-57] [ e }
SB-05 SB-1S

. Iltem Numbers

Item Number Thickness

mm (inch)

Stage Surface
mm (inch)

SB-05 25.4x50.8 (1"x2") 9.5 (0.375") 0.02

SB-1S 25.4x76 (1"x3") 9.5(0.375") 0.04

SB-1 50.8x96 (2"x3.78") 9.5(0.375") 0.13

SB-2 50.8x76 (2"x3") 9.5 (0.375") 0.10
D. 31 o, OP Mount Instrumentinc. www.opmount.com.tw




Sliding Bases

- Overview
e 9 surface dimensions for selection:
e SB-05/1S/1/2/3/4/5/6/7
SB-3 SB-5 e Material: Aluminum
/ l e Compatible with rail and table mounting systems »
| \ e Metric / Imperial Version available
_ e To order Imperial model please add * |- * to ltem
- SB-4
- Specification & ltem Numbers . \
£3
c
g
SB-3 y 8
2—MBx1P —M4x0. W _
e i A E
A
I fe) - el
s @ of| |k
l o} & ) M8B[1,/4]CIr
o r\ o 4—M4[#8]CIr Slot:
‘ = ~| 50.0 [2.0] |- W6—M6><WP[W;4><2003H7
34,
] sk =
— 75.0[3.0] 9.5 ]
i =t [37] T i 1
(PP 7o Hhe 0o 30,0 630 !
. . I 120.0
A 7 B [2.0] (134 12 4;ﬂwooo | [4.73]
J : [3.94] ||
L H
2-M6x1P 3-Ms[1/4] 4-M4x0.7P 1
[1/4x200 F or [ e F-
\ 1/'\\ (/\\ W : -
SJO 9 O ”’ [13,‘;5] = 4-M4x0.7P J L, 9.5
T O L 50.0[2.0] - [8x32W] [37]
3 #75.0 [3.0]—+
WRod) o o o | ol
rO o ) \Q Liwno [5.00] 1 i
e
63.0 [2.48] 8.0 [32]
SB—4 1 v \ﬂ
! 76.0[3.0] !

- ltem Numbers

ltem Number Stage Surface Thickness

mm (inch) mm (inch)
SB-3 76X100 (3"X3.94”) 9.5 (0.37") 0.17
SB-4 65X76 (2.56X3") 8(0.315") 0.10
SB-5 120X127 (4.73"X5”) 9.5(0.37") 0.30

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. 24, D. 32



i OO

Sliding Bases

- Overview

e 9O surface dimensions for selection:
SB-05/1S/1/2/3/4/5/6/7

e Compatible with rail and table mounting systems

e SBR-2:The base surface provides long 1/4” (M6) clearance
slots while the front mounting surface offers a large array of
1/4”-20 (M6) mounting holes and counterbores
Material: Aluminum
Metric / Imperial Version available

e To order Imperial model please add *I-.* to Item

. Specification & ltem Numbers

SB-6/7 SBR-2

(o)
o)
=
©
<]
3
]
3
ot
w

D. 33

+—62.0 [2.44]— 14-M4x0.7P R3.5 [R.14]
—50.0 [2.0] [8x32W] 3-M6CLR N
4-M3x0.5P
— 30.0 M
o e e 7 [HB]H / o SEL{”
[
R, B>
s [215,001 50[2] ‘ 6
620 T ,  70.0 25[1 N 90
[2.44] eo © Q ooe———+ [2.76] ‘[ ] 6
oo 250 )
) o o o
— 2 %p
A 50[2]
7.0 [.28]
Il J
\ 3 \
‘ - F
I L ! i ‘
‘ i ‘ 9.5 [.37]
ltem# A L i T
SB6 |75.0[3.0] [120.0[4.74]
SB—7 |87.0[3.43]|170.0[6.7]

70 [2.76]

B e tomers

Item Number Stage Surface Thickness Weight
mm (inch) mm (inch) (kg)
SB-6 120X70 (4.72X2.76") 7 0.13
SB-7 170X70 (6.7X2.76") 7 0.18
SBR-2 70X50 (2.76X1.97") 9.5 0.10

o

. OP Mount Instrument Inc.

W W W .

opmount.com.

tw




Optical Carriers

T

CR-1T

B overion

e Travel Range: 12.7 mm (0.5”)

rails
e With cave for reading the ruler

e Material: Aluminum
e Metric / Imperial Version

. Specification & ltem Numbers

N\l

e CR-sereis Carriers compatible for OR-series or ORE-series

e CR-1T features leaner crossed roller -Bearing reaching
higher resolution driven by100-pitch screw

e To order Imperial model please add * I- * to'ltem

CR-1

CR-1T

5-M6x1P

[ 1/4x20W]

4—M4x0.7P
[#8x32W]

o MEee 50.0[2.0] L 44,0[1.73] =
—M6x 340 25.0
[1/4x200] | h 134*] 4o M?:L#Rg “ 110
¢l 4-Max0.7P |
@\!}L o l}f L~ "axzow] a
M6 ,‘ 4 — i
Q/ [C/‘r] 88.0 ° i
63.0 % )
w0 O o [ S| fm 600
60.0 O
o 9 o [2.36] = © Oim
§
[@Q o Q@\
h = —
| —
1
250 =
[.98] j m
1 ! 76.0[3.0] !
J-776‘O [3.0]44 Lock Screw
4—MBX TP R5O'03£20‘01
[w/zuzoMN r n Ms[wc/‘;ﬂ 4-MBx1P 25.0

[1.73][1.0]-

i

Lock Screw

M6[1/4]

Clr

* \ é) @ b [W/ﬁXQOWJX
44.0 25.0 5 ~ 550 5 % —
©) O

[.98]
]

=
1

|

5
p 1 O
4—M4x0.7P
[8x32W]

Iltem Number Length L
mm (inch)
CR-1 76x88 (3x3.46") 0.35
CR-1T 76x88 (3x3.46") 0.37
CR-2 76x44 (3x1.73") 0.20
CR-3 76x25 (3x0.98") 0.12
www.opmount.com.tw OPMountinstrumentinc.

®

L
=
@
=
o
Q
§
O

D. 34



Large Rails

- Overview

OR-series e Typical Flatness : +0.05mm (per meter)
e Larger Dimension for higher stability and reaching heavy
load

e Readout ruler for convenient positioning
e Material: Aluminum
Metric / Imperial Version
Accpet customized specification
It can combine together if ORL is longer than 1 M.
To order Imperial model please add *I-* to Item

- Specification & ltem Numbers -

(o)
o)
=
©
<]
3
]
3
ot
w

1/4x20W Screw MBEX 1P Screw
clr Slots clr Slots
S = > S
120.0 86.644101.6 O 100.0
[4.72] [3.41] [40] pi2s4s [3.94]
- —
| - ) ()
12.5 25.4
2 G- - [1.0]
[1.46] .

- ltem Numbers

Item Number Length L

mm (inch)
OR-50 500 (19.7") 3.0
OR-75 750 (29.53") 45
OR-100 1000 (39.4") 6.0

D. 35 o, OP Mount Instrumentinc. www.opmount.com.tw




Medium-size Optical Rails & Carriers

ORL-series

D ocever

Length : 250 ~ 1000mm
Typical Flatness : £ 0.05 mm per meter
Easy to read engraved scales ( mm)

Carriers:Can use English or Metric tapped mounting holes
To order Imperial model please add * I- * to Item

- Specification & ltem Numbers \-

hso.o[zo]ﬁ

3—M6x1P[1/4x20W]

b o &

=

90,0 [3.54] o e
«-T *’?‘g% r [1/4x201]
‘ o | 4-M4x0.7P
Ms O L xean
[1.0]
650 0 o ©
[2.56] yas.0
l [Tﬂﬁo o oo Lock Screw
8.0
[[32

TArE
[1.06]
— i

‘ [10

M6[1,/4]

clr Slots

@ @Q@@@

\
=

5{% ;fo
[2.0] [2.0]
_t

Jzsl

ltem# |L mm(inch) A

ORL-25 | 250[9.85] | 4™*3 Slots
ORL—50 | 500[18.7] | 4™*5 Slots
ORL=75 |750[29.53] | 4™7 Slots
ORL-100{1000[39.37]| 4™*9g Siots

101.6
[4.0]

. ltem Numbers

ltem Number

CRL-1
W
CRL-2

Size mm (inch)

25x90 (17x3.55”)
65%90 (2.56x3.55")

0.10
0.13

ltem Number Length Number of Slots

mm (inch)
ORL-25 250 (9.85”) 4’x3 slots 0.60
ORL-50 500 (18.77) 4’x5 slots 1.10
ORL-75 750 (29.53") 47X7 slots 1.60
ORL-100 1000 (39.37”) 4°x9 slots 2.20

W W W .

opmount.

cCom.

tw

OP Mount Instrument Inc.

o

®

v
b~
=
o
=
o
Q
§
O

D. 36



o e

Compact Optical Rails
B overview

ORE-series e Features space saving, compact and handy mounting
directly to the breadboard or table

e Easy to read engraved scales (mm)

e Material: Aluminum

e Metric / Imperial Version

e To order Imperial model please add * I- * to Item

- Specification & ltem Numbers

0
24.0

12.
"\ ““[. 7] 3—M6[1/4]clr j o

@ Lmmuj\mw!\\mm@\\& @ (=)

(/)
)
=
]
o
3
®
3
(v d
w

NN

\ A \ A ‘

APPLICATION

(see C. 34)

Can be used in combination

- ltem Numbers

Iltem Number Length L A

mm (inch) mm (inch)
ORE-25 250 (9.85”) 100 (4.0”) 0.45
ORE-50 500 (19.7”) 200 (8.0”) 0.9

D. 37 o, OP Mount Instrumentinc. www.opmount.com.tw



or] cc -

Miniatur Rail and Carriers

- Overview

e length:76.2~304.8 mm

Low cost and compact design

Rigid, smooth carrier has free clamp to move firmly in

position ~
® To order Imperial model please add * I- * to ltem

- Specification & [tem Numbers \-

MOR-3/6/12 CCA1

W
e
=
o
=
o
Q
§
O

304.8[12.0]
250.0[10.0] M6[1,/4]clr
200.0[8.0] f
150.0[6.0] — |
100.0[4.0] — T Z ‘
ﬁsovo[z,oj—# 250 (/ \
e | O | =
D ©OC Yo 0CYoektHYo o0CHo 9 N4
TEE weotnd ] | |

25.4
[1.0]
152.4 [6.00]— }

76.2 ([3.00] 125.0[5.0] —
L5 —s0.02.0]— 75.0030] 15.5 7 =5
b T Lo =0 [ [-67]
19.0
75

m] fO.E) od PO 6 © D o4 T o rr1e1d
T2 Maxade IMew 4 e | 257 ] M6[1,/4 g l ' '
[8x32W] C\r[Sﬁ)ti [#BJC‘rJ [1.00] cwr[séti 2’?§:§z7wﬁj

cc

- item Numbers

Iltem Number Length

mm (inch)
MOR-3 76.2 (3") 0.01
MOR-6 152.4 (6”) 0.03
MOR-12 304.8 (127) 0.05
CCA1 25.4x25.4 (17) 0.01

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. 24, D. 38



(o)
o
=
T
<]
3
o
3
ot
w

D. 39

by @

Universal Mounting Platforms

UMP-1

- Specification & ltem Numbers

B ovenion

Material: Aluminum (Black anodized)

1/4-20 (M6) threaded and clearance holes

Two mounting surfaces-vertical and horizontal design
Metric / Imperial version available

To order Imperial model please add * I- * to Item

UMP-1

9—-MBx1P
[1/4x20W]

J @) ©)

40.0
[1.58]

49.0
[1.93]

184.0 [7.25]
‘<7W 12.0 [4.41]
@] ©) O O
60 o O O
[30] O ©) O ©)
o O 7)
‘ O O O ?
31.0 L $38.0 [#1.50]
[1.22] 6—-87.0 Aperture
- 12—=M6x1P[1/4x20W]
O
89.0
[3.50] 19
© ﬁ[m

S remmbes

ltem Number Rods Diameter
@ mm (inch)

UMP-1 38.1 (1.50”)

Stage sruface :

Stage sruface : Tapped
Horizontal mm (inch) Vertical mm (inch) Holes Patterm

38x76 (1.5'x3.0”) 76x89 (3.0°x3.5") M6x1P (1/4-20W) 1.51

o

. OP Mount Instrument Inc. 'w w w .

opmount.

com.tw




Rod Clamps

D oeniow

e Compatible for SRA-series solid rods

e Material: Aluminum

e Metric / Imperial Version

e To order Imperial model please add * I- * to ltem

APPLICATION

RC-2

. Specification & Item Numbers

N \ud

RC-1 RC-2 RC-3

9—MBx1P

[1/4x20W] ;
b (0N 38.0 9—M6x 1P
oo [1.50] [1/4x20W _
Screw o o 0 ot Lock O 9o ;
[215..001 Screw O = 38.0 [1.50]
000 | . | 25.0 =
A ’ L CoD || 9 i
B 2, L ‘ =t |
1.0
D - Les; 0 [2.56] 25.0
PN [2.95]— [1.0]
RC—2 —75.0 [2.95]—

. ltem Numbers

Item Number Diameter @ C Stage surface Screw Hole
mm (inch) mm (inch)

RC-1 38.1(1.5") 38x76 (1.5x3”) M6x1P (1/4-20W)

RC-2 38.1(1.5") 16x65 (0.63x2.56") M6x1P (1/4-20W)

RC-3 38.1(1.5" 38x38 (1.5x1.5") M6x1P (1/4-20W)

www.opmount.com.tw OPMountinstrumentinc.

®

L
=
@
=
o
Q
§
O

D. 40



b 00

Rods &Round Mountin'g Plates

- Overview

e Solid rod with side clearance hole for firm and stable fix
e Rods can be
1.stacked to desired heights

2.used in combination with UMP-1 Mounting Platform
3.used in combination with SR-B round mounting plate
e Material: Aluminum
e Metric / Imperial Version
e To order Imperial model please add * |- * to ltem
= @

SRA-series SR-B - SO

Specification & ltem Numbers

0
3
: “hprLicaTioN |
S
g
UMP-1 (see C. 39)
MBx1P 4-MBCLR
v 5-M6

[1/4]cIr

2—-M6*1P
SE] - Can be used in combination with
50.4 . .

/p L [2.0] UMP-1 Mounting Platform
6.0
[6.24] ] I

4 N
o APPLICATION
4 50.4 [2.0]
1/4x20W —_| ) 10 76.0 [3.0] - TL'

sl Es] 1
920.0 I = ©
{Fort+— SEEIT) I S S

d e L [ o5 4

item Number Length L Diameter @

mm (inch) mm (inch)
SRA-75 75 (2.95") 38(1.5") 0.23
SRA-150 150 (5.9") 38(1.5") 0.46
SRA-250 250 (9.84") 38(1.5") 0.76
SRA-350 350 (13.78") 38(1.57) 1.07
SRA-500 500 (19.7”) 38 (1.5%) 1.52
SRA-600 600 (23.6") 38(1.5") 1.90
SR-A SIZE: 70X70X36 0.20
SR-B SIZE: @76X16 0.10

D. 41 e, OP Mount Instrumentinc. ' www.opmount.com.tw



o0 Y

Rack Gear Rod Clamps

T

e SRC-1 complete systems include one rack geared rod
clamp (RG-3) featuring rack gear design for pinion position-
ing of height setting and one stainless rod and bottom plate
® RG-3 rod clamp with wide selection of mounting holes on >
mounting platform and is clamped onto the rod by tighten-
ing a knurled knob

. Specification & ltem Numbers _‘\-

B

=

@
=

o
Q
§

O

SRC-1/RG-3 [ m a

50[2]

34
[1.34]

B—M4A[#8—32W]
/9—M6[w/4—zow]

g ¢
50|25 y . . ‘ 24 | 85
[2]| 1] — o [1.34}[3.35]
"N © 02 300[11.8]

33
[1.30]

190 250

WWwWWwW.opmount.com.tw OP Mount Instrument Inc. %4, D. 42



D. 43

Angle Brackets

S ovenion

> o Application: Allows assembly with optical tables, and
w components

e Economic / Space saving designs

8 styles for different applications

Imperial (1/4~20) or Metric (M6) tapped mounting holes
Laser engraved scales

Material: Aluminum (Black anodized)

Metric / Imperial Version

To order Imperial model please add *-I-.* to Item

E Specification & Item Numbers A\-

50.4 [2.0] AB-1N
4 8
/ 3204} | ©
i [1.26] T 6-M6[1/4]Slots
// { 50.0
/ 11204 e o [1.97] (@) (jT
/Jr 3 i © 9. 708
i/ )| |o||o||I |S2
.zs}; ol © J AB—1N
L/ adly e o]
M na oee 6,M5W4ﬂ2~7f514«4 L—Losa[1.0)
[ AB_jN ] Slots
AB-2
= $36.0
i ] b ’42]/*2E§‘§'85] <t p-64025] 4—64.5[.18] 69'0 ?T/%%%v]
+ .':’._59\:) 0 OQO/ 4—Méwa 4-¢7.0.28] [ \@ ©
w800 0/4> T [1/4x20W) o
106.4 [2_'“ ;\_ T #34.0 2463.0
Beld o o 5770 o gos [1.34] To.8)
o | J e T o
l b | AB-2
e l—100.0 [3.94] Lf‘;g]"a\
—~ 302,481\
100:003,94] —
( AB-2 ]
AB-3
4-MEXTP 63.0[2.48] 8-04.6
1 fax20W] ; .
[, TN 1341 | 4[157]0 6.0 [24]
%% o | Qé; [.28]
3 Y 50.0 ) AB—3
; / 2.0) $36.0
\ [1.42]
S ; J —t . 50.0[2.0] 3-97.0[.28]
C [.31]
4 16.0 [.63] [ © ¢
[ AB-3 ] —s0.0 [3.15]— 2[5908]1j i

o

OP Mount Instrumentinc. www.opmount.com.tw




8R6-3-4397556 886-3-4398379

m http:

(4] p m

fwww.opmount.com.tw
ount@opmount.com.tw

50.0 [2.0]
13—M6x1P 340 4—-M4x0.7P
[1/4x20W] [w 34] [8x32W] —~f }--10.0[.39]
o b .
(L ‘ ‘L 90.0
‘%25.0 M6B[1/4] ]
90.0 T—O fo) [.98] Aperture Slots 7
[3.54]550 © 007 6570 #50.0 65.0
i © o o 10.0 jt O O |"T1.97)12:56]
. [.39] [.28]
l . Lt o o ot l AB—4
L I
[ ] L 75.0[2.95]— F65 0[2.56]—
M4xQ.7P AB-25
[#8x32W]
94.5[.18] 10.0 4-M2x0.4P
[.39] [#2x56W]
2 952.3[.09]x i (/ —25.0 1[bsag] AB-25
—k\o NSO
10.0 [.39] \> T}io 28.6 04.3 [9.17] o &Y
* o [.39] [1.13] ‘
‘T R1.2 [R.OS]\ | 20.0 [.79]
190 [75] | .9 O | 140 \O
| [‘5 ] 6.4 [.25] ‘ et
[ ] L 25.0r.98]—| '
2-04.5[.18]
3—Msx1P[1,/4x20W]
4[*#M4XD;N7]P L2s]
Bx32 T—TGS .25
RO
f 1[?6% 4—p4.5[.18] Ve
025.0
[1.01 e} 7%%0@]%0.3
x32W1[2.0]
‘*‘H) o } [215&?] [34.0]
213 . i 1.34.
_ [1.10] -1
[.f4] % i | ' 9.5 [.37] }O l AB—34
N =
LZS.O[LOJJ LAD.D [158]4 J 25.0[1.0] L
( AB-34 )
-34.0 [1.34]—
AB-42
2-M6x1P 6 [0.24] 2-¢45 [60.18] 3-Mex1P ﬁ‘»—wxuw
R3.75 [RO.15] /73W7 [9028] 4, 445 (00.18) —— o) \a\ <\>
Q{ [ = [gs]
ool 5t | o 51 [2.01]] F [215] O
§ O O | Bln5a% [.32] D 30
O — ; Q@ Q| g
] Ll
: i o [0.83] 12.5[.5]
34 [1 34] 48 [1.89] 034 [1.34]
( AB-42 B
AB-65
4—04.5 [.18]
¢7.o[m.28] ﬁ;ﬂﬂ - 4-p4.5[.18]
e b Loy
R.50
340 65.0 70.0
D[w.zw] [2.56] [2.76] [316'52] © —9
| oo a i
1.48
@ © AB—65
325 [T | d b ‘L
[W 28] 650 [2.56]— 1340
[1.34]
] 650 [256]—

Iltem Number Height Iltem Number Height
mm (inch) mm (inch)
AB-1N 112 (4.47) 0.27 AB-25 34 (1.34") 0.02
AB-2 116 (4.577) 0.37 AB-34 50 (1.97”) 0.06
AB-3 90 (3.55”) 0.12 AB-42 50 (1.97”) 0.06
AB-4 90 (3.55”) 0.27 AB-65 70 (27.6”) 0.18
WWwWWwW.opmount.com.tw OP Mount Instrument Inc. 124,

L
c
@
=
o
Q
§
O

D. 44



